
PART NUMBER DESCRIPTION RRP incuding 
19% VAT

RRP excluding 
VAT

SW/ BC8.5 COMPLETE SWITCH ONE DESIGN BOAT WITH 8.5 RIG 24.750,00 € 20.798,32 €

SW/ BC7.5 COMPLETE SWITCH ONE DESIGN BOAT WITH 7.5 RIG 24.750,00 € 20.798,32 €

SW/ BC6.5 COMPLETE SWITCH ONE DESIGN BOAT WITH 6.5 RIG 0,00 €

CLASS BADGE CLASS BADGE 60,00 € 50,42 €

SW/SAP
SWITCH STANDARD EXTRA PACKAGE INCLUDE ALUMINIUM 
TROLLEY, BOAT BRAKER, MAIN FOIL VERTICAL COVER, MAIN FOIL 
HORIZONTAL COVER, RUDDER FOIL VERTICAL COVER, RUDDER 
FOIL HORIZONTAL COVER AND BOAT COVER

999,00 € 839,50 €

SW/ E001 SWITCH ALUMINIUM BOAT TROLLEY 563,00 € 473,11 €

SW/ E002 SWITCH SIDE TROLLEY FOR LAUNCHING 145,00 € 121,85 €

SW/ E003 SWITCH MAIN FOIL VERTICAL PADDED COVER 55,00 € 46,22 €

SW/ E004 SWITCH MAIN FOIL HERIZONTAL PADDED COVER 40,00 € 33,61 €

SW/ E005 SWITCH RUDDER FOIL HERIZONTAL PADDED COVER 55,00 € 46,22 €

SW/ E006 SWITCH RUDDER FOIL VERTICAL PADDED COVER 40,00 € 33,61 €

SW/ E007 SWITCH BOAT COVER 160,00 € 134,45 €

SW/ E008 SWITCH ALUMINIUM BOAT BOX 1.110,00 € 932,77 €

SW/ E009 SWITCH BOAT BREAKER 205,00 € 172,27 €

SW/ S8.5 SWITCH SAILS 8.5 - FULLY BATTENED ONE DESIGN SAIL INCLUDE 
ALL BATTEN, BATTEN ADJUTERS, CAMS AND FULL LEGHTH BAG 2.082,00 € 1.749,58 €

SW/ S7.5 SWITCH SAILS 7.5 - FULLY BATTENED ONE DESIGN SAIL INCLUDE 
ALL BATTEN, BATTEN ADJUTERS, CAMS AND FULL LEGHTH BAG 2.025,00 € 1.701,68 €

SW/ S6.5 SWITCH SAILS 6.5 - FULLY BATTENED ONE DESIGN SAIL INCLUDE 
ALL BATTEN, BATTEN ADJUTERS, CAMS AND FULL LEGHTH BAG 1.966,00 € 1.652,10 €

SW/ S9.2 SWITCH SAILS 9.5 - FULLY BATTENED ONE DESIGN SAIL INCLUDE 
ALL BATTEN, BATTEN ADJUTERS, CAMS AND FULL LEGHTH BAG 2.182,00 € 1.833,61 €

SW/ S1 SWITCH BATTEN SET FOR SAIL 8.5 69,00 € 57,98 €

SW/ S2 SWITCH BATTEN SET FOR SAIL 7.5 69,00 € 57,98 €

SWITCH  EUROPEAN  PRICE LIST 01/2025

SWITCH ONE DESIGN BOAT READY TO SAIL

SWITCH STANDARD ACCESSORIES PACKAGE

SAILS AND SAILS ACCESSORIES

ACCESSORIES BOUGHT INDIVIDUALLY

ZIEGELMAYER Handelsgesellschaft mbH
Kaemmererufer 24 | 22303 Hamburg | GERMANY

phone: +49 40 3181 3001 | info@ziegelmayer.shop | www.ziegelmayer.shop



PART NUMBER DESCRIPTION RRP incuding 
19% VAT

RRP excluding 
VAT

SW/ S3 SWITCH CAMS SET 135,00 € 113,45 €

SW/ S4 SWITCH SAIL ROCKET 11,00 € 9,24 €

SW/ S5 SWITCH CLEW STRAP 49,00 € 41,18 €

SW/ MT1.0 SWITCH ONE DEDIGN CARBON MAST TIP 1.0 STIFFNESS FULLY 
FITTED 695,00 € 584,03 €

SW/ MM SWITCH ONE DEDIGN CARBON MID MAST FULLY FITTED 770,00 € 647,06 €

SW/ MBSH SWITCH ONE DEDIGN CARBON SHORT MAST BASE FULLY FITTED 319,00 € 268,07 €

SW/ MBST SWITCH ONE DEDIGN CARBON STANDARD MAST BASE FULLY 
FITTED 385,00 € 323,53 €

SW/ MBLO SWITCH ONE DEDIGN CARBON LONG MAST BASE FULLY FITTED 475,00 € 399,16 €

SW/ MA1 SWITCH-LOWER MAST END BOTTOM PLUG DELRIN 16,00 € 13,45 €

SW/ MA2 SWITCH MAST HOUND FITTING 41,00 € 34,45 €

SW/ MA3 SWITCH MAST SPREADER BRACKET SS316 41,00 € 34,45 €

SW/ MA4 SWITCH MAST TOP END CAP SS316 3,50 € 2,94 €

SW/ MA5 SWITCH MAST GOOSENECK 18,50 € 15,55 €

SW/ MA6 SWITCH BOOM GOOSENECK BOLT  6,50 € 5,46 €

SW/ MA7 SWITCH CLEW STROP PIN 6.35 MM. 8,50 € 7,14 €

SW/ MA10 SWITCH ALUMINIUM BOOM BRACKET V5 49,00 € 41,18 €

SW/ MA11 SWITCH VANG LEVER 65,00 € 54,62 €

SW/ MA12 SWITCH GOOSENECK PIN 7,50 € 6,30 €

SW/ MA13 SWITCH SPREADER LOCKING PIN (ID058521) 6,50 € 5,46 €

SW/ MA14 SWITCH SPREADER CHAIN PLATE 13,00 € 10,92 €

SW/ MA15 SWITCH CARBON BOOM PREDRILLED, INCLUDE BONDED VANG 
ATTACHMENT 1.475,00 € 1.239,50 €

SW/ MA16
SWITCH CARBON BOOM COMPLETE INCLUDE VANG LEVER AND 
BOLT, MAINSHEET ATTACHMENT, GOOSENECK PIN BONDED VANG 
ATTACHMENT

1.600,00 € 1.344,54 €

SW/ MA17 SWITCH SPREADER COMPLETE WITH PRODDER, SCREW AND 
STEEL CHAIN PLATE 525,00 € 441,18 €

SW/ RS1
ONE DESIGN SHROUD AND FORESTAY SET FOR 8.5 RIGS - READY 
TO FIT INCLUDES WIRES, END FITTING, SHACKLES, TURNBUCKLES 
AND CRIMPS

215,00 € 180,67 €

SW/ RS2
ONE DESIGN SHROUD AND FORESTAY SET FOR 7.5 RIGS - READY 
TO FIT INCLUDES WIRES, END FITTING, SHACKLES, TURNBUCKLES 
AND CRIMPS

215,00 € 180,67 €

SW/ RS3
ONE DESIGN SHROUD AND FORESTAY SET FOR 6.5 RIGS - READY 
TO FIT INCLUDES WIRES, END FITTING, SHACKLES, TURNBUCKLES 
AND CRIMPS

0,00 €

SW/ RS4
ONE DESIGN SHROUD AND FORESTAY SET FOR 9.5 RIGS - READY 
TO FIT INCLUDES WIRES, END FITTING, SHACKLES, TURNBUCKLES 
AND CRIMPS

0,00 €

SW/ RS5 SWITCH LONG HEADSTAY LOOP 23,00 € 19,33 €

FULLY FITTED MAST TUBES AND MAST/ BOOM PARTS

STANDING RIGGING SETS AND STANDING RIGGING PARTS

ZIEGELMAYER Handelsgesellschaft mbH
Kaemmererufer 24 | 22303 Hamburg | GERMANY

phone: +49 40 3181 3001 | info@ziegelmayer.shop | www.ziegelmayer.shop



PART NUMBER DESCRIPTION RRP incuding 
19% VAT

RRP excluding 
VAT

SW/ RS6 SWITCH SHORT HEADSTAY LOOP 22,00 € 18,49 €

SW/ RS7 SWITCH SHROUD LOOP 30,00 € 25,21 €

SW/ RS8 SWITCH MAINSHEET LOOP 22,00 € 18,49 €

SW/ RS9 SWITCH VANG LOOP 33,00 € 27,73 €

SW/ RI1 SWITCH PRODDER PLATE SS316 18,00 € 15,13 €

SW/ RI2 SWITCH SPREADER PLATE SS316 4,00 € 3,36 €

SW/ RI3 SWITCH LONG CHAIN PLATE EYE 13,00 € 10,92 €

SW/ RI4 SWITCH SHORT CHAIN PLATE EYE 18,00 € 15,13 €

SW/ RI5 SWITCH SHACKLE, D, SLOTTED PIN 3/16”,L:18MM,W:10MM (RF150) 4,50 € 3,78 €

SW/ RI6 SWITCH SHACKLE, NARROW, SLOTTED PIN 3/16”,L:19MM,W:8MM 
(RF614) 8,00 € 6,72 €

SW/ FMFV SWITCH ONE DESIGN CARBON MAIN FOIL VERTICAL 1.905,00 € 1.600,84 €

SW/ FMFH SWITCH ONE DESIGN CARBON MAIN FOIL HERIZONTAL 710,00 € 596,64 €

SW/ FRUV SWITCH ONE DESIGN CARBON RUDDER VERTICAL 1.785,00 € 1.500,00 €

SW/ FRUH SWITCH ONE DESIGN CARBON RUDDER HERIZONTAL 355,00 € 298,32 €

SW/ M1 SWITCH BARREL NUT SS316 9,00 € 7,56 €

SW/ M4 SWITCH MAIN FOIL PUSH ROD 304 25,00 € 21,01 €

SW/ M5 SWITCH VERTICAL PUSHROD SS316 M3 24,00 € 20,17 €

SW/ M7 SWITCH BELLCRANK SS316 33,00 € 27,73 €

SW/ M9 SWITCH BELLCRANK NUT SS316 13,00 € 10,92 €

SW/ RH1 SWITCH BOW SPRIT (FRONT) CARBON PUSH ROD COMPLETE 
ASSEMBLY 80,00 € 67,23 €

SW/ RH2 SWITCH MAIN (REAR) CARBON PUSH ROD COMPLETE ASSEMBLY 90,00 € 75,63 €

SW/ RH3 SWITCH CARBON RIDE HEIGHT ADJUSTER BARREL COMPLETE 
ASSEMBLY 82,00 € 68,91 €

SW/ RH4 SWITCH CARBON BOWSPRIT AND SNOUT 180,00 € 151,26 €

SW/ RH5 SWITCH CARBON WAND COMPLETE ASSEMBLY 230,00 € 193,28 €

SW/ RH6 SWITCH WAND PADDLE 75,00 € 63,03 €

SW/ RU5 SWITCH RUDDER PIN SS316 56,00 € 47,06 €

SW/ RU7 SWITCH TILLER BUSHING DELRIN 3,00 € 2,52 €

SW/ RU8 SWITCH TILLER BUSHING DELRIN 4,00 € 3,36 €

SW/ RU12 SWITCH TILLER MALE SLIDER  SS316 27,00 € 22,69 €

SW/ RU13 SWITCH SLIDING GUDGEON POM 15,00 € 12,61 €

SW/ RU20 SWITCH CARBON TILLER COMPLETE ASSEMBLY 185,00 € 155,46 €

SW/ RU21 SWITCH CARBON TILLER EXTENSION COMPLETE ASSEMBLY 118,00 € 99,16 €

SW/ RU22 SWITCH CARBON TILLER TUBE 105,00 € 88,24 €

SW/ RU23 SWITCH UNI JOINT (RED ROD) 11,00 € 9,24 €

CARBON FOILS AND PARTS

RIDE HEIGHT PUSH RODS, BARREL, WAND, BOWSPRIT AND PARTS

TILLER AND STEERING PARTS

ZIEGELMAYER Handelsgesellschaft mbH
Kaemmererufer 24 | 22303 Hamburg | GERMANY

phone: +49 40 3181 3001 | info@ziegelmayer.shop | www.ziegelmayer.shop



PART NUMBER DESCRIPTION RRP incuding 
19% VAT

RRP excluding 
VAT

SW/ C1 SWITCH BOWSPRIT BUSHING POM 3,00 € 2,52 €

SW/ C3 SWITCH BOWSPRIT PIN SS316 D6mm 9,00 € 7,56 €

SW/ C4 SWITCH BOWSPRIT PIN SS316 D5mm 12,00 € 10,08 €

SW/ C7 SWITCH FORARD ROD END M5 # IGUS 13,00 € 10,92 €

SW/ C8 SWITCH BOWSPRIT BACKING PLATE SS316 15,00 € 12,61 €

SW/ C10 SWITCH BOWSPRIT PUSHROD MALE SS316  22,00 € 18,49 €

SW/ C11 SWITCH HOR.PUCHROD FORK SS316 25,00 € 21,01 €

SW/ C14 SWITCH RHA SLIDER MALE SS316 26,00 € 21,85 €

SW/ C15 SWITCH RHA BOLT (LH) FORK SS316 22,00 € 18,49 €

SW/ C16 SWITCH HEIGHT ADJUSTER BUSHING DELRIN IDM6 4,00 € 3,36 €

SW/ C17 SWITCH HEIGHT ADJUSTER BUSHING DELRIN 4,00 € 3,36 €

SW/ C19 SWITCH FOIL PIN SS316 9,00 € 7,56 €

SW/ C20 SWITCH FORK PIN SS316 11,00 € 9,24 €

SW/ C21 SWITCH PUSHROD SCREW M5 12,00 € 10,08 €

SW/ H1 SWITCH MAST STUMP DELRIN 39,00 € 32,77 €

SW/ H2 SWITCH MAST PIN SS316 18,00 € 15,13 €

SW/ H5 SWITCH RUDDER GANTRY BUSHING DELRIN 4,00 € 3,36 €

SW/ H11 SWITCH CB CASE BUSHING 4,00 € 3,36 €

SW/ TP1 SWITCH TOE STRAP SET 90,00 € 75,63 €

SW/ TP2 SWITCH TRAMPOLINE SET 650,00 € 546,22 €

SW/ H20 SWITCH BLACK HATCH 10,00 € 8,40 €

SW/ H21 SWITCH ROUND STICKER 11,00 € 9,24 €

SW/ H22 SWITCH BULLS EYE FOR LINES UP TO 6 MM. (BE06) 11,00 € 9,24 €

SW/ H23 SWITCH FAIRLEAD STAINLESS LINED, ID:6.5 MM, BLACK (PNP120) 7,00 € 5,88 €

SW/ H24 SWITCH GROMMET ID:7 MM., BLACK (PNP54C) 2,00 € 1,68 €

SW/ H25 SWITCH S15 BB BLOCK, SINGLE CHEEK (RF15151) 15,00 € 12,61 €

SW/ H26 SWITCH RUDDER PIN CAP 33,00 € 27,73 €

SW/ H27 SWITCH PUSH ROD PIN (FROM BOW SHACKLE) 3,00 € 2,52 €

SW/ F1 M3 x 6 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F2 M3 x 8 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F3 M3 x 15 BOLT PAN HEAD PHILIP 0,50 € 0,42 €

SW/ F4 M3 x 20 BOLT PAN HEAD PHILIP 0,50 € 0,42 €

SW/ F5 M4 x 8 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F6 M4 x 10 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F7 M4 x 10 PLASTICE SCREW PAN HEAD 0,50 € 0,42 €

SW/ F8 M4 x 25 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F9 M5 x 20 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F10 M6x10 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F11 M 6x 12 BOLT PAN HEAD ALLEN 0,50 € 0,42 €

SW/ F12 M8 x 30 BOLT PAN HEAD ALLEN 1,50 € 1,26 €

HULL AND PLATFORM PARTS

FASTENING

VARIOUS

ZIEGELMAYER Handelsgesellschaft mbH
Kaemmererufer 24 | 22303 Hamburg | GERMANY

phone: +49 40 3181 3001 | info@ziegelmayer.shop | www.ziegelmayer.shop



PART NUMBER DESCRIPTION RRP incuding 
19% VAT

RRP excluding 
VAT

SW/ F13 M8 x 35 (24MM. NON THREADED SHANK) PAN ALLEN 1,50 € 1,26 €

SW/ F14 M3 x 10 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F15 M3 x 15 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F16 M3 x 20 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F17 M4 x 8 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F18 M4 x 10 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F19 M4 x 15 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F20 M4 x 20 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F21 M5 x 15 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F22 M6 x 30 BOLT CSK ALLEN 0,50 € 0,42 €

SW/ F23 M3 NUT PLAIN 0,50 € 0,42 €

SW/ F24 M3 NUT NYLOC 1,00 € 0,84 €

SW/ F25 M4 NUT NYLOC 0,50 € 0,42 €

SW/ F26 M5 NUT NYLOC 0,50 € 0,42 €

SW/ F27 M6 NUT NYLOC 0,50 € 0,42 €

SW/ F28 M8 NUT NYLOC 1,00 € 0,84 €

SW/ F29 M3 WASHER 0,50 € 0,42 €

SW/ F30 M4 WASHER 0,50 € 0,42 €

SW/ F31 M5 WASHER 0,50 € 0,42 €

SW/ F32 M8 WASHER 0,50 € 0,42 €

SW/ F33 M6 WASHER 1/4" (6MM.) 0,50 € 0,42 €

SW/ F34 WASHER-STD SS316 6,4 #31513 0,50 € 0,42 €

Terms
Price list is valid at time of release but is subject to change 

Orders
Order priority is based on deposit payment date for boats

Payment  
Boat : Deposit
EUR 5.000,00 on placing of Order

Boat : Final payment
Remaining Balance before delivery of boat

All prices are in EUR and ex works Hamburg, shipped by seafreight, for airfreight shipment expect a surcharge of around EUR 1500-2000.
This pricelist is dated 07.01.2025.

With this pricelist all previous pricelists become void.

ZIEGELMAYER Handelsgesellschaft mbH
Kaemmererufer 24 | 22303 Hamburg | GERMANY

phone: +49 40 3181 3001 | info@ziegelmayer.shop | www.ziegelmayer.shop


	Basic price list and pack i 

